| Efficiency vs Dxy |
> 0.1
<

5 S
L e S A
< A T T
@.08—----%------% ------- R St S ALY UL AR
@ A T T
KT O e A A S S S A S
© : : : : : : : :
0.06 -ttt
008
004 b
003

P 0 A
O
o+

Rati

7

09 56-156-10 =5 0 5 10 15 20 25

TP dxy (cm)

—=— DQM_ttbarPU_mkFit_5iter
[ Efficiency vs Dz | |—=— DQM_ttbarPU_mkFit_5iter_updatedPR111_update

0.1 —— DQM_ttbarPU_mkFit_5iter_updatedPR111_update_fixPropagation
N U, ; T T T
©

44 S
0B
DOTL iy ++++ """"""
S S * AR SR

0 L YT S -
008 ;.} ........ TR S
oo
0.0
00t

OJ--L'O ;||||!||||;||||

530 =2 i > 10 20 30
TP dz (cm)



	Contents
	Page 1


